~

TR KEILICE I HERERE(RER O RRER)

Rk R LER

BARABEZRDESR SERhDERE

B B & & 01981009

(5 AT # KAR

Pt £ ih —PFMFEFEIRIRKAR

B OB K B BELREERERTIARB-ZFEIRtELA—

|
o
7
[ . o -
2 A5 s, =
5 s & -
i B o~
4 £ E
d i~
. rd ::
f - TT Sy SN
i £ [~ L,
1% &Lt \
{ = #5
5 e 7
o A
B — LN
i \.f\.l.d /
¥
{

A
“

A £ | A = o

“ 25 T Bl 250 500

A
- /|
|
|
A

%35 =1(S=1:200,000)
[F 1 1 FE [ D B F 14 F K1 2000000 /\ F 1 % Of E-FHFE KI25000[ ;8 % F ] &5 &

d
4
-




REMNMOBFRREHRE
HX3—1 BEOEThOHELME ELLEEDSThOHELHOREH

& . ] _ L BMEEE VIES0FESE
= 8 & 0 & & EHWES 01981009 | &ipgrd AL | PRfEME AR R R A LR
- B s o \ | ...l. » N
D '__|I * 2004 2047 * A
R | | "
) ,-'I [ * 3258 9 .
| / —= \
' _/ " 3042 \ .
I| I.’I:
: / /S~
/o 4 “ =
" . A N S —— -~
| g - = e l
v | . A ]
o \ . |
] s\ - 2835 L S
/ - / / \% 2832
— | ¥ ; P 4 e - 1 :2,500
- o 0 50 100 m
\ A ' ; s I
| m Lim — TR BEOETNOHS L ORI THREDOBEN-LSDFHN00KN/ m%EiE 2 2 &
B T = ELLAEOSEThOHZLHORS C— tREORHBIInERZ LHE




AER O FRRXIFERE
B3 —2 REYICERTDLBESNIEREISEIIEE/M _ REEE | FHS0EE
[ EEAOMLE | BmEs | 01981009 [ [ElEa \ AAXR FRTEME | R R A A AR
‘ SERMO TIRICHEES 1 i aERThR
ﬁ;ﬁg TREDBBOEIENOKRES TREDHBEEILNOKRES TREDBBORIENOKRES TREFDHFERIENOKRES
= = T AN = 5 A\ - | = = T A\ = freay = | =
1 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz % — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00 000 ~ 468 5835 | #nLs |oo0 ~ 468|183 9.82 Thsh 1.00 | 500 ~ 5.00 5835 | #hst | 5.00 ~ 500 1.83 9.82
2 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBER D - ~ — — —
ZFhLs 1.00| 000 ~ 467 5827 | #hust | 000 ~ 467] 206 11.05 Zh s 1.00 | 600 ~ 595 5827 | #hst | 5.00 ~ 595|206 11.05
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBER D - ~ — — —
ZFhLs 1.00| 000 ~ 588 73.60 | ThLS | 000 ~ 588|204 10.91 ZThsh 100|600 ~ 787 73.60 | TnRS | 5,00 ~ 7.87 | 204 10.91
4 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBER D - ~ — — —
st 1.00 1000 ~ 315 40.36 | s | 000 ~ 315|229 12.25 Thst 1.00 | 5.00 ~ 500 40.36 | Ehs | 6.00 ~ 5.00 | 2.29 12.25
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhst ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThst ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhst ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Zh st ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhs ~ Zh st ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhst ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~

)
H
gl |



